# =

# 5 XK

r % £

BB IKEE

K

#IRTE

-5

BERX5 (LA 10)

TERS (A1)

I & (A D)
& A (A l)
O 7))

71

B

M %

(A" 15)

i

%
I

Hfz

ATIEH

212 -

ANIET

#EEIT

fEE] (LF)

3. 7+10. 9+8. 9+12. 2+10. 5

46.2

46. 2

B+ T

Bt

4.5+3.9+1. 2+5. 5+3. 7

18. 8

18.8

EELT

RIE Y

1R

10. 7+16. 7+10. 2+13. 3+7. 6

58.5

58.5

H#HERL

BRI

4.3+6. 0+4. 5+6. 7+2. 8

24.3

24.3

EEEIE

EHEEIE

10. 8+14. 8+9. 8+14. 4+7. 3

57.1

57.1

RIMET

7% L& hiy

46. 2+58.5-24.3+0.9

1.1

17.1

n5n&E

T

1.0

1.0

1.0

FEERL

FEEIE
(G Ep)

13. 7+22. 1+14. 1+15.9+9. 9

15.7

15.17

EEHT

1/5



®x F # B X
s e = FERD (A I0)
r ¥ £ |B\BKBREFEEREIS w5 TR GTID
[T &8 (A I2) A ]
i ﬂf'l ﬂ“(lﬂ(‘ Jbs')m P Y Mg N y-) =z # =& B ZE
OB (LAt |
Ay
JrLE 1200 x 2000 X 500 4.0 = 4.0 40| " |lrEmLy
EEERT
avy)-p
7 AyhEET
- 1T m
7 nyhREELEE |7 nyyREEE 10. 4 = 10.4| 10.4
7T
7 Ny AR 2.4 = 2.4 2.4 M
TR
7 Ny AR R 5 4 = 54 5.4 | M
1T m
7 Ny iEERE 12.4 = 124 12.4
PTX
7 Ny AR R 6.4 = 6.4 6.4 | "
FTX .
7 Ny IS AR 5.4 = 54 5.4
TTX m
7 Ny RS AR 12.4 = 124 12.4
8TX m
7 Ny IS AR 3.9 = 3.9 3.9
ITX
7 Ny AR 4.4 = 4.4 4.4
TOZX (1) .
7 D‘V’)#EZE):E‘;E* 2.2 = 2.2 2.2 NO. 6+17. 8~NO. 7
0L (2
7 nyhiE R 1.2 = 1.2 1.2 ™ N0 7~N0. 7412
- 1T =zt =350 9
7' nyhiE 7' nyhEE E3A204Y-b t=10cm 11.4 = 1140 11.4|"
2T 2
7' nyhiE % =350 3.4 = 3.4 3.4 M
3T )
7 nyhiE % =350 6.8 = 6.8 6.8 | M
ITX %2t =350 )
7 nyhiE %L:/n b t=20cm 18.5 = 185| 185 ™
T 2
7' nyhiE % =350 10.0 = 10.0| 100 ™

2/5



X% F & B £
o~ «s e o BERS (L~ 10)
I ¥ £ |fAKBKEEIHIE £ =1 TR GTID
[T & (0~ I2) . .
i ﬂ]ﬂ'l ;-,u(médbs')m P Y Mg N y-) = # =& B ZE
],,l\—
I FEZ t =350 5
7 nyhEE ATV t=10cm 7.3 = 1.3 7.3 M
TIX Bz t=350 )
7 nyhiE BE5ATV9Y-b t=10cm 19.5 = 19.5| 195 ™
8IRX X t =350 5
7 nyhEE A1V t=15cm 3.7 = 37 .7 | M
ITX 2z t=350 9
7 nyhEE E3A204Y-b t=15cm 5.5 = 55 55 M
T0OZX (1) Bz t=350 )
7“D‘v’ﬁr‘ﬁz =Aavh)-b t=15cm 4.1 = 41 4.1 1™ |no 6+17.8~N0.7
10K (2) 2
7' ayhiE 2 =350 1.3 = 1.3 1.3 ™ [No 7~N0.7+1.2
3
EAREA RC—40 3.0+1. 1+1. 8+5. 6+2. 8+2. 146, 0+1, 0+1.4+1.7 = 265| 265]|™M
TIX
EKipT KT 10. 4 = 104 104]| "
2T
KT 2.4 = 2.4 24| M
3T
KT 5 4 = 5.4 54| M
ITX
KT 12. 4 = 124 124]| "
ST
RKipT 6.4 = 6.4 6.4 M
6T
KT 5.4 = 5.4 54| M
T
RKipT 12. 4 = 124 12.4]| "
8T
KipT 3.9 = 3.9 39| M
9T
KipT 4.4 = 4.4 441"
0T (1) m
BEﬁf“r‘ﬁI( ; 2.2 = 2.2 2.2 NO. 6+17. 8~NO. 7
I (2
KT 1.2 = 1.2 1.2 ™ N0 7~N0. 7+1.2
AT 20.0 | &
TIRIEMOET 3
INEVEESE ) 109Y)-} 0.27 = 027 027 ™ iz

3/5



1Y
X £F & B &
N << = 4 & = . FERXD (A I0)
I ¥ £ |fAKBKEEIHIE ) = TEEA I
[T &8 (A I2) . .
oA (Aa3) & 7 b W), F = # F|#El| B
A (LA
2
By 2.2 = 2.2 22| ™ hix
TIR2ENOLET 3
INEVEESE Y 1091)-} 0. 34 = 03] 034|™ h1m
2
B 2.7 = 2.7 2.7 1™ iz
2IRIE/OLET 3
INEVEESE Y 1991)-} 0.32 = 03] 032|M™ &
2
B 2.7 = 2.7 2.7 1™ iz
2IX2E/NOLET 3
INEVEESE Y 1091} 0. 34 = 03] 034|™ h1m
2
By 2.8 = 2.8 2.8 | ™ iz
SIX/hMAOLET 3
INEVEESE Y 199Y)-} 0.28 = 0.28] 028 | ™ |og
2
By 2.3 = 2.3 2.3 ™ |
ITRTE/OLET 3
INEVEESE Y 109Y)-} 0. 43 = 040 040 | ™ 1z
2
By 3.4 = 3.2 3.2 ™ him
ITR2E/NOLET 3
INEVEESE Y 199Y)-} 0.47 = 045 045 | ™ |1z
2
B 3.7 = 3.5 3.5 | ™ him
SIR/NOIET 3
INEVEESE Y 109Y)-} 0.34x2 = 0.68] 068 M [oz
2
B 2.8x2 = 56 56 | M [ox
fIX/NOIET 3
INEVEESE Y 199Y)-} 0.36x2 = 0.72] 072 ™ [z
2
B 2.9%x2 = 58 58| ™ [z
TIR/POLET 3
INEVEESE Y 199Y)-} 0.42x2 = 0.8 084 M oz
2
B 3.4%2 = 6.8 6.8 | M oz
SIR/NOLET 3
INEVEESE Y 109Y)-} 0.29x2 = 058 058 M [o&

4/5



# & £ g X

N << = 4 & = . FERXD (A I0)
T ¥ £ |HBKBRXEEEIS F——5 TR GTID
[ & W~ D)
GO & 7 b W), F = # £ \#Ex| B O F
2
By 2.3%2 = 4.6 4.6 | ™ lox
IITX/MAOLET 3
INEVEESE Y Y-+ 0.34x2 = 0.68] 068 M [ox
2
By 2.7%2 = 54 54| ™ lox
1N0IR1S/ALT 3
INEVEESE Y I09Y)-} 0.53 = 053] 053 |™ &
2
By 4.2 = 42 4.2 1™ iz
10IR25/ AT 3
INEVEESE Y 109Y)-} 0.25 = 025 025 | ™ 1z
2
By 2.1 = 2.1 2.1 1™ iz
HEET
2
EST EE 13, 7+22. 1+14. 1+15.9+9. 9 = 757 757"
BEYBET
BEYRIET
T rUE o [5.6IK
WET 7.0+4.5 = 11.5| 11.5 TERLY
RE&T
TERERT
1RERE AR 18. 0+18. 0+18. 0+18. 0+18. 0+10. 0+18. 0+15. 0 = 133.0] 133.0| " |Tmmsy
KET
V7 ok 2404249+2 = 100 10.0 |FF|emmsy

5/5



# & £ g X

FRRS LA I0)
A <L = 4 - - N — | L
Tz # £ |H@BKE 2IRKFEEISE & TR GTID
S )

BN # # BB ) ) =t #
@A N |

AISEE
£i9 -
ANET
EEIT
EHI (£7) 3.7 = 3.1 41"
BiT
Bt 5.0 = 5.0 5| M
EEET
FRIE Y
FR1E 10. 7 = 10.7 1| m

#z| o#m E

I

R L
1ERET 4.3 = 4.3 41 M
EEEIE
EEEIE 7. 8+1. 56+0. 2+0. 2+0. 2+0. 2 = 10.2 10| ™

BT MIET
BtE 3.7+10.7-5.0-4. 3 = 51 50 M

non & T 1.0 = 1.0 1

EEERL
EEEE 5
13.7 = 13.7 14 1M

ABERET

1/3



# = &£

-

BERX5 (LA 10)

I % £ |tAB8KE, 2IXRKEEIBISE -F-—5 “TIERA G
E: B CNY)) N ] _
L GO & 7 b W), F = # F|#El| B
OB (LAt |
avhy-+
7 AyhEET 1TR
yY-+ m
7 Ry iR R 10. 4 = 10.4 10
-+ X t =350 5
7" NyhEE 7' nyhiE BE5AIV9Y-b t=10cm 11.4 = 11.4 il m
3
EARA RC-40 3.3 = 33 3| M
XigT 10. 4 = 10.4 10| "
I E S
AT 15/ AILET 1
3
INEVEESE Y I09Y)-} 0.27 = 0.27 B30 ™ s
2
By 1.3 = 1.3 1™ iz
I E S
AT 25/hO1ET 1
3
INEVEESE Y 109Y)-} 0. 34 = 0.34 B30 ™ s
2
B 1.6 = 1.6 2| ™ iz
avhy-+
7 AyhEET 2T
-+ m
7 nyhiEE R 2.4 = 2.4 2
7=} k i
7 nyhiE 7 0yhiE #Z =350 3.4 = 3.4 3
3
AR RC-40 1.0 = 1.0 | m
KihT 2.4 = 2.4 2 | "
7T E S
AT 15/ AT 1
3
INEVEESE ) 10Y)-} 0.32 = 0.32 3™ s
2
B 1.6 = 1.6 2| ™ iz
7T E S
AT 25/hO1ET 1

2/3



# & £ g X

T ¥ £ |BAKB, IRKEHEBISE %% A
[T &8 (A I2)
*i% 1 7 VA S (W ), F e 4 £|egl B o=
INEVREEY Y-k 0.34 - 034] 03|™ [ix
R 1.7 = 1.7 2| ™ s
HEET
BET (io¥d 13.7 = 13.7 4™
REET
TEFAERT
"B A 18.0 = 18.0 18| " |rERLY
BRI T
AEFOS#HY  |BERE .0 = 1.0 1| % |ramsey
REEKT
B .
RUIFLUE | $400 12.0 = 12.0 12 FER LY
KETL
K 7 Bk .0 = 1.0 1 B | zmms y

3/3



#EEl - RiE

at

L]

3’?& % =
: - B = % 5 oy =
B = = o -
A B pa | kR Al | I A | IR 1
1TX
NO. O 0.0 0.4 0.8
NO. 0+10.0 10.0 0.1 0.7 0.25 0.75 2.5 7.5
NO. 0+11.0 1.0 0.8 0.8 0.45 0.75 0.5 0.8
2TX
NO.0+1.5 0.0 0.4 0.8
NO.0+4.0 2.5 0.1 0.8 0.25 0.80 0.6 2.0
NO.0+4.5 0.5 0.2 0.8 0.15 0.80 0.1 0.4
= &t 14.0 3.7 10.7




18 R = it & &
; i * 5 # =
P — — —
| BB B Y i i b
1T
NO. O 0.0 0.3
NO. 0+10.0 10.0 0.3 0.30 3.0
NO. 0+11.0 1.0 0.3 0.30 0.3
2TX
NO.0+1.5 0.0 0.3
NO.0+4.0 2.5 0.3 0.30 0.8
NO.0+4.5 0.5 0.3 0.30 0.2
=) it 14.0 4.3




M B it B
; & ] + 2] # £
j =]
AR BB Bt Bt Bt i
1T
NO.0 0.0 0.2
NO. 0+10.0 10.0 0.6 0.40 4.0
NO.0+11.0 1.0 0.3 0.45 0.5
2T
NO.0+1.5 0.0 0.2
NO.0+4.0 2.5 0.1 0.15 0.4
NO.0+4.5 0.5 0.1 0.10 0.1
5 &t 14.0 5.0




EEER - sRZmEmtE M = i E £
. - 5y [i:1] = I 4 # =
AR R R EEERR - BE EEERR - BE EEERR - BE 1
1T
NO. 0 0.0 1.1
NO. 0+10.0 10.0 1.4 1.25 12.5
NO.0+11.0 1.0 1.0 1.20 1.2
=) it 11.0 13.7




) N = s x = =

1IR3V )—rJ0OvOiETL LSEL-Y s HEE

£ 7 it =} = B # = fi& =

1IR

avyy)y—rJoysET | 0.99%x4.2+1/2x (0.99+1.31) x5.5+1.31x0.70=11.4 m2 11.4 EIBERL=11. O

3z 35cm) 00 4200 5500 30

700
Z 2 B A 0.26x 4. 2+0. 35 6. 2=3. 3 it 3.3 = 1)°
(RC_40) = o 85 gs 2

= [i:1] = 1E 0.75x10.4=7.8 m 7.8 A=0. 90%4. 2+1/2% (0. 99+1. 31)%5. 5+1. 310, 70=11. 4m2

Rimavyy-t

EJOovy
(FE 350m)

1TX

1200~1500

H=

NO. 0+0. 3~NO.0+4.5 0. 26m2
NO. 0+10.0~N0.0+10.7 0. 35m2




ekt = " kb = =
2IXa VS )—rJ0Ov 98I SERLT Y MNEHEE
£ L &t " = B # = fis %
QLo Y— R TOy ST | 1/2% (1.36+1.46) x2.2+1.46x0.2=3.4 m’ 3.4 )T
=z 35cm) % |BEEL=3. O
00 2200 200 [300
X A B E 0.435x 2. 2+0. 45x0. 2=1.0 m° 1.0 S 3| 2
(RG-40) S S| |2
o3 R %80
2D = =
X ®m B T 0.65%2. 4=1.56 m’ 1.56 "ol =i Lo
A=1/2%(1.36+1.46) *2. 2+1. 46%0. 2=3. 4m2

2T

Kimasy -t

BEoovs
(4 35¢m)

300

AR
NO.0+1.8~NO.0+4.0 0.435m2  (RC-40)

1600~1700

H=

NO. 0+4. 0~NO. 0+4. 2 0. 45m2
E#Ea oy )—+

650




32 = =
1 Ilzgﬁ%: o0 1)—Fk 10m 7= U 7;& £ =t ﬁ %
£ 71 it =1 = B % = i Z
2 v 4y Yy — b (0.55%0.25-0.10%0.45=2) x10=1.15 | m’ 1.15
(18-8-40BB)
id] o (0.15+0.25) x10=4.0 2 4.0
1 AT
(UNEEEWI) E@a Lo Y—k
18-8-40BB
100 450
2 B OB 7 0.75%10=7.5 m 7.5 ‘
(RC-40  t=10cm) o K\‘ 8
S | 7 |
Vi) it B (0.55%0. 25-0. 10% 0. 45=2) x2=0.2 m 0.2
100 550 100
750

EEEE  RC-40




2TREREIIY—F 10m = | WEHEE
£ g it =1 I HE % = & -4
0 Y H Yy — k (0.45%0.30-0. 15%0. 35=2) x10=1.09 m 1.09
(18-8—40BB)
350 100 Efao)—¢k
B s (0.15+0.30) x10=4.5 ' 4.5 18-8-40BB
UNEIEEMT)
E M B A 0.65x10=6.5 m 6.5 = -
(RC-40 t=10cm) | \ | S
b i) e (0. 45 % 0. 30-0. 15% 0. 35-2) x2=0. 2 m? 0.2 o0 40 oo
650

2HRA  RC-40




1 IRKXHET 10m4 7= U M EHEE
% 5 it =1 = Bl % = i =
X B avhy -} 0.45%0.13=2x10=0. 29 m 0.29
(18-12-20BB)
it 2 0.13x10=1.3 m’ 1.3
470

130

450




2 TRKiHET 10m4 7= U MEHEE
% 5 it =1 = Bl % = & =
X B avhy -} 0.35%0.10=2x10=0. 18 m 0.18
(18-12-20BB)
it 2 0.10x10=1.0 m’ 1.0
: 360

100




1 TR 15/hO1T ETo MEHEE
% 5 it =1 = Bl % = i =
O Y 5 1y — k| (0.67+0.83) =2x1.20%0.30=0. 27 m 0.27
(18-8-40BB)
e B (0.67+0.83) ~2x1. 2040, 30x 1. 25=1. 3
(&AHIVD)-1) ' ' ) ' ' ' ' . |3
. 300
E @& ® I@E| 0.83x0.30=0.2 m’ 0.2

1200

[ ]

1200




1IX 2%8/0O1kT ETo MEHEE
% 5 it =1 = Bl % = i =
O Y 5 1y — k| (0.67+0.83) =2x1.50x0.30=0. 34 m 0.34
(18-8-40BB)
2 B (0.67+0.83) =2 x1.50+0. 30x 1. 57+=1. 6
(#FHIV7)-1) ' ' ) ' . . . m 1.6 300,
E @& ® I@E| 0.83x0.30=0.2 m’ 0.2

1500

1500

830




2T 15/hAILET ETo MEHEE
£ g it =1 I B # = & Z
9 Y & 1y — k| (0.57+0.78) =2 x 1. 60 x 0. 30=0. 32 i 0.32
(18-8-408BB)
e B (0.5740.78) =2 x 1. 60+0. 3x 1. 67=1. 6
(EEFHIY)-P) ' ' : ' ' ' ' . 16 300

2 B E 0.78%0.30=0. 2 m

1600

1600




2TX 25/pO1iT ETo MEHEE
% 5 it =1 = Bl % = i =
O Y 5 1y — k| (0.57+0.78) =2x1.70x0. 30=0. 34 m 0.34
(18-8-40BB)
e B (0.5740.78) =2 x 1. 7040, 3x 1. 77=1.7
(EEFHIY)-P) ' ' ) ' ' ' ' . 17 300
E @& ® I@E| 0.78x0.30=0.2 m’ 0.2

1700

1700




# B &£ B X

7 = ek = FER5 (LA I0)
I #F £ [SBAKHS AIRKEHEIEIS -5 N
[T & (0~ I2)

BN # # BB ) ) =t #
@A N |

AISEE
£i9 -
ANET
EEIT
EHI () 10.9 = 10.9 11
BiT
Bt 4.2 = 4.2 41"
EEET
FRIE Y
FR1E 16. 7 = 16.7 17| ™

#z| o#m E

I

R L
HRET 6.0 = 6.0 6
EEEIE
BEEETE 3. 5+10. 5+0. 2 x 2+0. 3+0. 3 = 15.0 15 | ™

BiuET
BtE 10. 9+16. 7-4.2-6. 0 = 17.4 17 m

0o Ry 1.0 = 1.0 1
EEERL
EEEE 5

CER:) 22. 1 = 2.1 22|

ABERET

1/3



1Y
® F # B &
7N <¢4 = 2 e = | EERS (A0
T ¥ £ |HBKHES JIIRKEEIEIS 5 TR GTID
[T &8 (A I2) . .
GO & 7 b W), F = # F|#El| B
OB (LAt |
avhy-+
7 AyhEET JIX
yY-+ m
7 Ry iR R 5.4 = 54 5
hY-+ ) 2
7" NyhEE 7 nyhiE % =350 6.8 = 6.8 71 M
3
EARA RC-40 1.8 = 1.8 2| M
KigT 5 4 = 54 5| M
pALET 2 £
3
INEVEESE Y 109Y)-} 0.28x2 = 0.56 0.6 | ™ oz
2
B 1.4x2 = 2.8 3| ™ ox
avhy-+
7 AyhEET AT
-+ m
7 AR R 12. 4 = 12.4 12
IUH-+ X t=350 ?
7" NyhiE 7' nyhiE ATV t=20cm 18.5 = 185 19 M
3
EARA RC-40 5.6 = 5.6 6| M
KigT 12. 4 = 12.4 |
ITX E S
AT 15/ AT 1
3
INEVEESE Y 109Y)-} 0. 43 = 0.43 0.4 ™ iz
2
B 1.9 = 1.9 2 | ™ iz
ITX E S
AT 25/hO1ET 1
3
INEVEESE Y 109Y)-} 0.47 = 0.47 0.5 | ™ iz
2
By 2.1 = 2.1 2| ™ iz
HELET

2/3



# B &£ B X
I F £ |6kHS ATRKEMIBIE “H—5 e
I_*;:ﬂf,”;“gﬁ);m) £ # % 0 P 2t w £|ew| B =
RET (¥ 22. 1 = 22.1 2|
T
TEAEBT
RSB 18.0+18.0 = 36.0 36 | " |FEELY
BB R T
KB S@Y  |BEME 2.00 2.0 2 | ¥
KET
K V7" Bk 2.0 - 2.0 2 | B rmmsy
3/3




#EEl - RiE

&t

L]

X = i =
: - B = % 5 oy =
B = = o -
A B pa | kR Al | I A | IR 1
3ITX
NO. 1 0.0 0.4 0.8
NO. 1+3.0 3.0 0.2 0.7 0.30 0.75 0.9 2.3
NO. 1+6. 0 3.0 0.3 0.6 0.25 0.65 0.8 2.0
4T[X
NO. 1+13.5 0.0 0.9 0.9
NO. 2 6.5 0.5 1.0 0.70 0.95 4.6 6.2
NO. 2+6.5 6.5 0.9 0.9 0.70 0.95 4.6 6.2
= &t 19.0 10.9 16.7




18 R = it &

; i * 5 # =

P — — —

| BB B Y i i b
3ITX
NO. 1 0.0 0.4
NO.1+3.0 3.0 0.3 0.35 1.1
NO.1+6.0 3.0 0.3 0.30 0.9
4TX
NO. 1+13.5 0.0 0.3
NO. 2 6.5 0.3 0.30 2.0
NO. 2+6.5 6.5 0.3 0.30 2.0

=) it 19.0 6.0




M E it ¥ B
; + ] + 2] # £
j =]
AR BB Bt Bt Bt i
3T
NO. 1 0.0 0.2
NO.1+3.0 3.0 0.3 0.25 0.8
NO. 1 3.0 0.2 0.25 0.8
4TX
NO. 1+13.5 0.0 0.1
NO. 2 6.5 0.2 0.15 1.0
NO. 2+6.5 6.5 0.3 0.25 1.6
5 &t 19.0 4.2




EMEER - sRZmiA ¥ 2 Ft B
. & ¥ [i:] & I 5 5 =
AR BE R EEEY - B2 EEEY - B2 EEEY - B2 1
3TX
NO. 1 0.0 0.5
NO.1+3.0 3.0 0.4 0.45 1.4
NO. 1+6.0 3.0 0.2 0.30 0.9
AT[X
NO. 1+13.5 0.0 0.8
NO. 2 6.5 2.1 1.45 9.4
NO. 2+6.5 6.5 1.1 1. 60 10.4
= it 19.0 22.1




O e ES " $b = =
SIXaVYY—rJBOY UL SN Y MEEHEE
% 7 &t " = By & = ] x
avsy— IOy ST 1.25x5.4=6.8 m’ 6.8 3IR
(##z 35cm) 1% |HFERL=6. Om
5400
00 2700 2700 0
E X B A 0.34x5.4=1.8 m° 1.8 _ - -
(RC-40) g ? ¢
X ®m B 0.65x5.4=3.5 m’ 3.5 Jgg Bl gl o
A=1.25%5.4=6.8m2
Eigav)-h
BWIOvs 350
(# 35cm)
(o=
2
in HEA K
o
(RC-40)
0. 34m2

HE@EarHs)—Fk




ATRa Vo )—krJOvHETI S8BTy M EHEE
=

£ E it =1 I HE % = &
SuH Yk Tay ST | 1/2% (1.39+1.51) x6.2+1/2% (1.51x1.57) x6.2=18.5 | m’ 18.5 HEERL13 0
G?E i 35cm) 0 6200 6200 00
X X2 B "\ 0.44x 6. 2+0. 47 x 6. 2=5. 6 m* 5.62%]
(RC-40) g =
A=1/2%(1.39+1.51)%6. 2+1/2% (1. 51+1.57)%6. 2
=18. 5m2
E & B O 0.85%12.4=10.5 m’ 10.5
ATIR
P ENT DN Z%?@Q
FwIJowvsy
% 350 (
s 7 RAEE
:I';: C?> NO. 1+13.8~N0.2 0. 44m2
S b NO.2~NO.2+6.2 0.47m2

. _ 40 ERAavoy—+k
B W 1 L2a0 ==

850




SIIZETJ%:I o0 1)—Fk 10m 7= U 7;& £ =t ﬁ %
£ 7 it =1 = B % = & Z
2 v 4y Yy — b (0.45%0.25-0.10%0.35=2) x10=0.95 | m’ 0.95
(18-8-40BB)
it B (0.15+0.25) x10=4.0 m 4.0 450
NEIEEMT) 100 350
E@aoy—Fb
18-8-40BB
2 B OB 7 0.65x10=6.5 m 6.5 ,
(RC-40 t=10cm) o i\ 8]
= 2
S | P |
% it B (0.45x%0.25-0.10% 0. 35=2) x2=0.2 m 0.2
100 450 100

Z#3H  RC-40

650




ATRXREHaD)—F 10m24 7 | HEHEE
% # &t ] = By #t 8 i =
3 Y45 Yy — b (0.65x0.30-0.15%0.55+2) x10=1.54 | m’ 1.54
(18-8-40BB)
i i (0.15+0.30) x10=4.5 m’ 4.5 2V 5 Y— ¢
UNEMEEM 1) (18-8-40
100 550
X B B & 0.85x10=8.5 '’ 8.5 ‘ -
(RC-40  t=10cm) o N 2
o {
™ =Y
o)
S 2
b B e (0. 65x0.30-0. 15x 0. 55--2) x2=0. 3 m’ 0.3
ERER 100 650 100

850




3TRKiET 10m4 7= U M EHEE
% 5 it =1 = Bl % = i =
X B avhy -} 0.35%0.10=2x10=0. 18 m 0.18
(18-12-20BB)
it 2 0.10x10=1.0 m’ 1.0
360




4 TERFEHT 10m& 7= Y HEHEE
% 5 it =1 = Bl % = i =
X avhry -t 0.55x0. 16=-2x 10=0. 44 m 0.46
(18-12-20BB)
it 2 0.16x10=1.6 m’ 1.6

570




STIX /HhOWkT eIl MN=EHEE
% 5 it =1 = Bl % = i =
O Y & 1y — k| (0.57+0.73) =2x1.45%0. 30=0. 28 m 0.28
(18-8-40BB)
i) B . _
EwE- (0.57+0.73) =2 x1.45+0.30x1.51=1.4 . L
1300,
E @& ® I@E| 0.73x0.30=0.2 m’ 0.2

1450

1450




ATRX 15/O1LET ETo MEHEE
£ E it =1 I HE % = & -4
90V 5y — k| (0.77+0.98) =2 x1.63x0. 30=0. 43 m 0.43
(18-8-4088B)
S B (0.7740.98) =2 x 1. 63+0. 3x 1. 70=1. 9 200
(&AHIVD)-1) ' ' ) ' ' ' ' . 19
2 @& ® I@E| 0.98x0.30=0.3 m’ 0.3

1630

1630




ATX 2%8/,O1tT ETo MEHEE
% 5 it =1 = Bl % = i =
O Y 5 1y — k| (0.77+0.98) =2 x1.80%0. 30=0. 47 m 0.47
(18-8-40BB)
i) B . _
EwE- (0.77+0.98) =2 x 1. 80+0. 3x 1. 88=2. 1 . .
300
2 @& ® I@E| 0.98x0.30=0.3 m’ 0.3 —

1800

1800




# =

# 5 XK

T

£ £

A KEES, 6IXRKEFEEIBIE

-5

BERX5 (LA 10)

TERS (A1)

E

[N

AL (A3
MR (LA

71

B

BB )

i

I

Hfz

ATIEH

212 -

ANIET

#EEIT

fEE] (LF)

8.9

8.9

B+ T

Bt

1.4

EELT

RIE Y

1R

10.2

10. 2

H#HERL

BRI

4.5

4.5

EEEIE

EHEEIE

2.8+4.1+0.2%2+0. 3% 2

1.9

RIMET

7% L& hiy

8.9+10.2-1.4-4.5

13.2

n5n&E

T

1.0

1.0

FEERL

FEEIE
(G Ep)

14.1

14. 1

EEHEET

1/3



# & £ g X

7N <¢4 = 2 e = | EERS (A0
T ¥ £ |HBKES (IRKEFEEIEISR 5 TR GTID
[ & W~ D)
GO & 7 b W), F = # £ \#Ex| B O F
OB (LAt |
avhy-+
7 AyhEET bIX
yY-+ m
7 Ry iR R 6.4 = 6.4 6
-+ X t =350 5
7" NyhEE 7 nyhiE 10.0 = 10.0 oM
3
EARA RC-40 2.8 = 2.8 3| M
KigT 6.4 = 6.4 6| M
pALET 2 £
3
INEVEESE Y 109Y)-} 0.34x2 = 0.68 0.7 ™ oz
2
B 1.7x2 = 3.4 3| ™ ox
avhy-+
7 AyhEET 6TX
-+ m
7 AR R 5.4 = 5.4 5
-+ X t =350 5
7 nyhiE 7 nyhiE BE5ATV9Y-b t=10cm 7.3 = 7.3 71 M
3
AR RC-40 2.1 = 2.1 2| M
KigT 5 4 = 54 5| M
AT 2 £
3
INEVEESE Y 109Y)-} 0.36x2 = 0.72 0.7 ™ lox
2
B 1.7x2 = 3.4 3| ™ Jox
HELET
2
EET R 14. 1 = 141 14 1M
RE&T
TERERT

2/3



# B &£ B X
T ¥ £ (BAKES CIRKEWIBISE %% R A
I_é:zﬁ”;“@;@m £ B PR, # =t P
(RS AR 18.0+18.0 = 36.0 36 | " |FEELY
WIS T
KB S5@Y  |BEME 2.00 2.0 2 | %
KET
K V7" Bk 2.0 - 2.0 2 | B rmmsy

3/3



#EEl - RiE

&t

L]

N = 3 =
: - B = % 5 oy =
B = = o -
A B pa | kR Al | I A | IR 1
bTIX
NO. 2+6.5 0.0 1.0 0.7
NO. 2+12.0 55 0.5 0.8 0.75 0.75 4.1 4.1
NO. 2+13.5 1.5 2.0 0.8 1.25 0.80 1.9 1.2
6TX
NO. 3+10.0 0.0 0.8 0.7
NO. 3+13.0 3.0 0.3 0.8 0.55 0.75 1.7 2.3
NO. 3+16.0 3.0 0.5 0.9 0.40 0.85 1.2 2.6
= &t 13.0 3.9 10.2




18 R = it & &
; i * 5 # =
P — — —
| BB B Y i i b
hbTX
NO. 2+6.5 0.0 0.3
NO. 2+12.0 5.5 0.3 0.30 1.7
NO. 2+13.5 1.5 0.3 0.30 0.5
6T
NO. 3+10.0 0.0 0.3
NO. 3+13.0 3.0 0.4 0.35 1.1
NO. 3+16. 0 3.0 0.4 0.40 1.2
=) it 13.0 4.5




M B it B
; & ] + 2] # £
j =]
AR BB Bt Bt Bt i
oI
NO. 2+6.5 0.0 0.1
NO.2+12.0 9.5 0.1 0.10 0.6
NO.2+13.5 1.5 0.1 0.10 0.2
6T
NO. 3+10.0 0.0 0.1
NO. 3+13.0 3.0 0.1 0.10 0.3
NO. 3+16.0 3.0 0.1 0.10 0.3
5 &t 13.0 1.4




EMEER - sRZmiA ¥ 2 Ft B
. & ¥ [i:] & I 5 5 =
AR BE R EEEY - B2 EEEY - B2 EEEY - B2 1
ST X
NO. 2+6.5 0.0 2.0
NO.2+12.0 5.9 1.7 1.85 10.2
NO. 2+13.5 1.5 1.6 1.65 2.9
6TX
NO. 3+10.0 0.0 0.4
NO. 3+13.0 3.0 0.2 0.30 0.9
NO. 3+16.0 3.0 0.1 0.15 0.5
= it 13.0 14.1




5IXavy)—rJOyHEL S8BTy M EHEE
% # it g = B % B p =

S5IRaVZ)—rJ0v o EIRER

S=1:50
avhy—rIOvHET 1.57%6.4=10.0 m 10.0 MEER 127 0n
(Ep:'i 35cm) Jows R L=6.4m
MAIL =]
0. 30 1.20 5. 20 3(
X @2 B & 0.43x6.4=2.8 m’ 2.8 L s
(RC-40) oS ' "
101.33 101. 23
XE @ =B I 0.65%6.4=2.8 m’ 28

99. 83 \
99. 73 99. 59

A=1.57%6. 4=10. Om2

300

1450
1500
1750

240 |
AREA = BB o Y— b
—40
43m2

o Dt

650




6IRaAVYY—brJOYIET

SELT- Y M E EE E
=

% R it -} = B & ]
6IRaVYY—FrIJOvIBIERMAR
22y U= kIO UKL 1.36x5.4=7.3 m’ 7.3 wEEE Lbon
(##z 35cm) ‘e iy
N ﬁnvbé L=5.4m N
34 2.70 2.70 3¢
E X B A 0.39%5.4=2.1 m’ 2.1
(RC-40) - = =
) 102. 68 B -
X ®m B T 0.75%5.4=4. 1 m’ 4.1 102.26

101.17 100. 96
A=1.36%b. 4=7. 3m2

300

1600

1300

(18-8-40)
abﬂé HEPEa o )—

750




+K s G = =
SIXEBEaO L) —F 10m2 = U M=t HE E
£ 7 it =1 = B % = i Z
2 v 4y Yy — b (0.45%0.25-0.10%0.35=2) x10=0.95 | m’ 0.95
(18-8-40BB)
it B (0.15+0.25) x10=4.0 m 4.0 =R el
(UNEAEEWT) (18-8-40
- 350 100
2 B OB & 0.65%10=6.5 m’ 6.5 g
(RC-40 t=10cm) = /74 2
| | S
i it B (0.45x%0.25-0.10% 0. 35=2) x2=0.2 m 0.2
100 450 100

650




6 TIXEHIH)—F 10m% 7= Y HhEHE=
£ E it =1 I HE % = & -4
2 v 5 Yy — f (0.55%0.30-0. 15%0,45=2) x10=1.31 | m° 1.31
(18-8-40BB)
it B (0.15+0.30) x10=4.5 m 4.5
(UNBIEEWT)
X B ® = 0.75%x10=7.5 m’ 7.5 2 o
(RC-40 t=10cm) 3 S
i i) E (0.55%0.30-0. 15%0.45=2) x2=0.3 | m 0.3 \LL
100 550 100 EEEEA

750




5 TXRXiET 10m2#= U MN=EHEE
% 5 it =1 = Bl % = i =
X % avhy -t 0.35%0.10=-2x10=0. 18 m 0.18
(18-12-20BB)
it 2 0.10x10=1.0 m’ 1.0
360

ay k
(18-12-20)




6 TXRXixET 10m4 7= U M EHEE
% 5 it =1 = Bl % = i =
X B avhy -} 0.45%0.13=2x10=0. 29 m 0.29
(18-12-20BB)
it 2 0.13x10=1.3 m’ 1.3

18-8-40BB




5 TX/NOIET 1H sty MEHEE
% 5 it =1 = Bl % = i =
O Y 5 1y — k| (0.5240.76) =2 x1.75%0. 30=0. 34 m 0.34
(18-8-40BB)
e B (0.52+0.76) =2 x 1. 75+0. 30 x 1. 82=1. 7
(&AHIVD)-1) ' ' ) ' ' ' ' . 17
' 300
E @& ® I@E| 0.76x0.30=0.2 m’ 0.2

1750




6 TX/NOIET 1H sty MEHEE
% 5 it =1 = Bl % = i =
O Y 5 1y — k| (0.62+0.88) =2 x1.60%0.30=0. 36 m 0.36
(18-8-40BB)
i) B . _
EwE- (0.62+0.88) =2 x1.60+0.3x 1. 67=1.7 . o
2 @& ® I@E| 0.88x0.30=0.3 m’ 0.3

1600




# B &£ B X

7 = ek = FER5 (LA I0)
I #F £ [SBAKEI], SIRKEMIEISE -5 N
[T & (0~ I2)

BN # # BB ) ) =t #
@A N |

AISEE
£i9 -
ANET
EEIT
EHI () 12.2 = 12.2 12
BiT
Bt 6.3 = 6.3 6| "
EEET
FRIE Y
FR1E 13.3 = 13.3 13

#z| o#m E

I

R L
HRET 6.7 = 6.7 7
EEEIE
BEEETE 9.3+3. 1+0. 3% 2+0. 3x 2 = 13.6 14| M

A AET
7 E 12.2+13. 3-6. 3-6. 7 = 12.5 13

0o Ry 1.0 = 1.0 1
EEERL
EEEE 5

CER:) 15.9 = 15.9 16

ABERET

1/3



1Y
® F # B &
7N <¢4 = 2 e = | EERS (A0
T F £ |(@BBKKE], SIXRKEFEIEIE 5 TR GTID
[ & W~ D)
GO & 7 b W), F = # F|#El| B
OB (LAt |
avy)-p
7 AyhEET 1IX
yY-+ m
7 Ry iR R 12. 4 = 12.4 12
-+ X t =350 5
7 0yhiE 7' nyhiE BE5AT09Y-b t=10cm 19.5 = 19.5 20| M
3
EARA RC-40 6.0 = 6.0 6| M
XigT 12.4 = 12.4 12"
pALET 2 £
3
INEVEESE Y 109Y)-} 0.42x2 = 0.8 0.8 | M [z
2
By 2.0x2 = 4.0 41 M |og
avhy-+
7 AyhEET 8T
hY-+ m
7 AR R 3.9 = 3.9 4
-+ PEZX t =350 5
7 0yhiE 7 nyhiE A1V t=15cm 3.7 = 37 4 M
3
AR RC-40 1.0 = 1.0 .o M
KT 3.9 = 3.9 4| M
AT 2 £
3
INEVEESE Y 109Y)-} 0.29x2 = 058 0.60] M [om
2
B 1.3x2 = 2.6 3| ™ ox
HELET
2
EET R 15.9 = 159 16
BEYEBET
BEYRIET

2/3



x B # B X
I F £ |6KkH] SIRKEMIBIE “H—5 e
I_*;:ﬂf,”;“gﬁ);m) £ B # B P 2t w 22w B =
#ﬁjyéfg 7.0+4. 5 = 11.5 12| " |rERLY
BT
TERBERT
RSB 18.0+18.0 = 36.0 36 | " |FEELY
B RS T
AE+OSHY  |[BERE 2.00 2.0 2 | =
KETL
K 7 Bk 2.0 = 2.0 2 | B rmmsy
3/3




#EEl - RiE

at

L]

3’?& % =
: - B = % 5 oy =
B = = o -
A B pa | kR Al | I A | IR 1
1TX
NO. 4+11.5 0.0 0.7 0.9
NO. 4+14.5 3.0 0.9 0.8 0.80 0.85 2.4 2.6
NO.5 55 0.9 0.9 0.90 0.85 5.0 4.7
NO.5+4.5 4.5 0.8 0.9 0.85 0.90 3.8 4.1
STX
NO. 5+15.5 0.0 0.3 0.4
NO.5+18.0 2.5 0.0 0.4 0.15 0.40 0.4 1.0
NO. 6 2.0 0.6 0.5 0.30 0.45 0.6 0.9
= &t 17.5 12.2 13.3




18 R = it & &
; i * 5 # =
P — — —
| BB B Y i i b
TITX
NO. 4+11.5 0.0 0.3
NO. 4+14.5 3.0 0.5 0.40 1.2
NO. 5 5.5 0.3 0.40 2.2
NO.5+4.5 4.5 0.3 0.30 1.4
8TX
NO. 5+15.5 0.0 0.4
NO.5+18.0 2.5 0.4 0.40 1.0
NO. 6 2.0 0.5 0.45 0.9
=) it 17.5 6.7




# = &t E &
. & ¥ T 5 # =
3 =1
A =R iz SR Bt Bt Bt i
1T
NO. 4+11.5 0.0 0.2
NO. 4+14.5 3.0 0.1 0.15 0.5
NO. 5 9.5 0.1 0.10 0.6
NO.5+4.5 4.5 0.1 0.10 0.5
8IX
NO. 5+15.5 0.0 0.1
NO. 5+18.0 2.5 2.0 1.05 2.6
NO. 6 2.0 0.1 1.05 2.1
=) &t 17.5 6.3




EMEER - sRZmiA ¥ 2 Ft B
. & ¥ [i:] & I 5 5 =
AR BE R EEEY - B2 EEEY - B2 EEEY - B2 1
1T
NO. 4+11.5 0.0 0.5
NO.4+14.5 3.0 0.3 0.40 1.2
NO. 5 5.9 0.2 0.25 1.4
NO.5+4.5 4.5 0.3 0.25 1.1
8ITX
NO. 5+15.5 0.0 3.1
NO.5+18.0 2.9 2.6 2.85 7.1
NO. 6 2.0 2.5 2.55 0.1
= it 17.5 15.9




7IRavHY)—r2J80v O8I S8BTy M EHEE
=

£ 7 it =1 = B % = it
7IRaYvZ)—r7OvoEIRERE
Qv y— IOy HET 1.57x12.4=19.5 m 19.5
(#Ez 35cm) ot L2 an

(=

=
4.2 556

= A B A 0.48x12.4=6.0 m 6.0/
(RC-40)

X2 @B B I 0.75%12.4=9.3 m

A=12 4x1 57
=19 &m2

300

1500

1500
1800

SRV R P

750




) R £ " kir =2 =
S8TIXa vy )—krTJOwHIET SERL T WM =EEHEE
£ 7 it g = B % = & Z
S8IRaVHYY—+rJOovHrEIRRR
S=1:50
Q25— IOy HET 0.94%x3.9=3.7 m 3.7
(=% 35cm)
HIEEE L=4.5m
£ 2 B A 0.25x3.9=1.0 m’ 1.0 Ao rok
(RC_40) 0.3 Joy ST 1L=3 9m 0.3
2.0 2.5
X B B OE 0.80%3.9=3. 1 ' 3.1 2 S 2
104. 99
| 104. 61
4
_\
104. 09 X:103.71

A=3.9x0. 94
=3. Tm2

XigaA o y—+t




JTIREHIH)—F 10m% 7= Y HhEHE=
£ 7 it =1 = B % = it Z
2 v 4y Yy — b (0.55%0.30-0.15%0.45=2) x10=1.31 | m’ 1.31
(18-8-40BB)
it B (0.15+0.30) x10=4.5 m 4.5
UNEIEEMT)
: J— 3
E B B F 0.75x10=7.5 m 7.5 o s
(RC-40 t=10cm) N S
i i 2 (0.55%0.30-0.15%0.45=2) x2=0.3 m’ 0.3 06 - M

750




STXEWHaO S )—F 10n% 7= Y 0 EEHE ZE
£ 7 it g = B % = & Z
2 v 4y Yy — b (0.60%0.30-0.15%0.50=2) x10=1.43 | m’ 1.43
(18-8-40BB)
it B (0.15+0.30) x10=4.5 m 4.5 500 100
UNEIEEMT) BERaLH Y —
(18-8-4
g /_ [
X B B = 0.80%10=8.0 m’ 8.0l 5 S
(RG-40 t=10cm) g S
| | g
i i 2 0.60%0.30-0.15%0.50=2) x2=0.3 ? 0.3
Ui 1‘+ ( ) m T
104 600 1040
800




7 IXXiET 10m2#= U MN=EHEE
% 5 it =1 = Bl % = i =
X % avhy -t 0.45%0.13=2%10=0. 29 m 0.29
(18-12-20BB)
it 2 0.13x10=1.3 m’ 1.3
470

18-8-40BB




STIRXRXixT 10m4 7= U M EHEE
% 5 it =1 = Bl % = i =
X B avhy -} 0.50%0. 14=2 % 10=0. 35 m 0.35
(18-12-20BB)
it 2 0.14x10=1.4 m’ 1.4
arvol)y—+F
(18-12-20) ‘ 520 ‘




7IRX/AOIET 1Rty M E EE E
£ 7 it =1 = B % = it Z
3 2 42 1) — k| (0.67+0.88) =2x1.80x0.30=0.42 m 0.42
(18-8-40BB)
2 B (0.67+0.88) =2x1.80+0. 30 x 1. 88=2.0
(&AHIVD)-1) ' ' ) ' ' ' ' . 2.0
' 300
HE @ ® IE| 0.88x0.30=0.3 m 0.3 T —




8 TX/hOIET 1H sty MEHEE
% 5 it =1 = Bl % = i =
O Y 5 1y — k| (0.72+0.89) =2 x1.20%0. 30=0. 29 m 0.29
(18-8-40BB)
i) B . _
EwE- (0.72+0.89) =2 x1.20+0.3x 1. 25=1. 3 . L
2 & ® I@E| 0.89x0.30=0.3 m’ 0.3

1200




# = &£

r % £

KR,

NNIXKEEBISE

-

- )

BERX5 (LA 10)

TERS (A1)

I & (A D)
& A (A l)
O 7))

-1 7

BB )

#

i

I

Hiz

ATIEH

212 -

ANIET

#EEIT

fEE] (LF)

10.5

10.5

B+ T

Bt

4.3

4.3

EELT

RIE Y

1R

1.6

1.6

H#HERL

BRI

2.8

2.8

EEEIE

EHEEIE

3.5+2. 5+0. 3 x 2+0. 3+0. 2

1.1

RIMET

7% L& hiy

10.5+7.6-4.3-2. 8

11.0

n5n&E

T

1.0

1.0

FEERL

FEEIE
(G Ep)

9.9

9.9

EEHT

1/3



# = &£

-

BERX5 (LA 10)

E: B CNY)) . .
i & 2II(M(’;»@)»4) % 7 B Anw) F =t # =F\H2 B O F
N7
NS
pA s 1200 x 2000 x 500 0 = 4.0 4| " |lemmsy
SEEET
avyy-+
7 OyhiET ITKX
-+ m
7 AyhFEE R 4 = 4.4 4
5=} ‘ Bx t=35 2
7 nyyiE 7 nyhEE B5Aa04)-+ t=150m .5 = 55 6| M
3
EARE RC-40 4 = 1.4 1]
FigT 4 = 4.4 41
HhALET 2 £
3
INEREEY Y-+ .34x2 = 0.68 ™ fox
2
Eig 2 X2 = 3.2 3™ |ox
avh)-p
7 OyhiET 10TX
-+ m
7 nyhia AR .2 = 2.2 2 NO. 6+17. 8~N0. 7
-+ m
7 OyhFE R .2 = 1.2 1 NO. 7~NO. 7+1.2
-} ‘ Bx t=350 2
7 0yhiE 7' ayhiE E3A204Y-b t=15cm 1 = 41 41 ™ Ino.6+17.8~N0.7
-+ 2
7 0yhiE 7' ny)iE #Z =350 .3 = 1.3 11 ™ [No.7~NO.7+1.2
3
EARE RC-40 7 = 1.7 2 | M
Kig T .2 = 2.2 21 ™ [No.6+17.8~N0.7
KT .2 = 1.2 11 ™ [No.7~No. 7412
NALWET NO. 6+17.5 1 H

2/3



# & £ g X

I F & |BAKKY, 0IRKEEEIE %% A
[T &8 (A I2)
*i% 1 7 VA S (W ), F e 4 £|egl B o=
INEVREEY Y-k 0.53 = 0.53 1™
R 2.4 = 2.4 2| ™ s
MOET N0 7+1.5 oK
INEVREEY Y-k 0.25 = 0.25 03| " iz
R 1.2 = 1.2 1™ s
HEAET
wET (io¥d 9.9 = 9.9 0™
RE&ET
TEFAERT
REBH#E A 18.0+18.0 = 36.0 36 | " |EmELy
BRI T
ABTDS Y |BEME 3.00 3.0 3| %
KETL
K 7 Bk 2.0 = 2.0 2 |5 @y y

3/3



EEl - PR M B T H Z#

: - B = % 5 oy =

B = = o -

A B pa | kR Al | I A | IR m =
ITX
NO. 6+4.0 0.0 0.9 0.8
NO. 6+7.0 3.0 0.9 0.8 0.90 0.80 2.7 2.4
NO. 6+9.0 2.0 0.5 0.9 0.70 0.85 1.4 1.7
10X
NO. 6+17.5 0.0 2.3 0.9
NO. 7 2.5 2.3 0.9 2.30 0.90 5.8 2.3 NO. 6+17. S{Z#EHL
NO. 7 0.0 0.1 0.8
NO. 7+1.5 1.5 0.7 0.8 0.40 0.80 0.6 1.2

= &t 9.0 10.5 7.6




18 R M = i E £

. . W ] E ) # =

P — — —

| BB B Y i i 1 =
ITX
NO.6+4.0 0.0 0.3
NO.6+7.0 3.0 0.3 0.30 0.9
NO.6+9.0 2.0 0.3 0.30 0.6
10X
NO.6+17.5 0.0 0.3
NO. 7 2.5 0.3 0.30 0.8 NO. 6+17. BIZEH0
NO. 7 0.0 0.3
NO. 7+1.5 1.5 0.3 0.30 0.5

=) it 9.0 2.8




M E it ¥ B

; + ] + 2] # £

j =]

AR BB Bt Bt Bt i =2
ITX
NO.6+4.0 0.0 0.4
NO.6+7.0 3.0 0.9 0.65 2.0
NO.6+9.0 2.0 0.6 0.75 1.5
10X
NO.6+17.5 0.0 0.2
NO. 7 2.5 0.2 0.20 0.5 NO. 6+17. SIZEHL
NO. 7 0.0 0.3
NO. 7+1.5 1.5 0.1 0.20 0.3

5 &t 9.0 4.3




EHEER - 5k

at

L]

iﬁ*ﬁ z % =
. - 5y [i:1] = I 4 # =
AR R R EEERR - BE EEERR - BE EEERR - BE 1
ITX
NO. 6+4.0 0.0 1.9
NO. 6+7.0 3.0 1.6 1.75 5.3
NO. 6+9.0 2.0 1.4 1.50 3.0
10IX
NO. 6+17.5 0.0 0.6
NO. 7 2.5 0.3 0.45 1.1
NO. 7+1.5 1.5 0.3 0.30 0.5
=) it 9.0 9.9




) R £ " kh = =
OTIXRaVHY)—FrZJ7OyHEL SELT- Y M EHEE
£ 7 it =1 = B % = i Z
fEHEERE L[=5.0m
/NOIE o ~ hOlE
S H— R TOy ST 1. 95%4 4=55 m2 55 0.3 JOvoEIT L=4.4m 0.3
(EZ  35cm) 3.0 2.0
= A B & 0.31x4.4=1.4 m’ 1.4) g s s
(RG-40)
105.79
E & B O 0.80x4.4=3.5 m 3.5
104. 59

104. 30

104. 47

A=1.25%4. 4=5. 5m2

5
/%7@

RKimaroU—+

1450
1200

HEFEa o y)—nh

800

AR

RC-40

0.31m2




5

A=1.3+4.1=5. 4m2

10TIRaY)—FJ7B8YIFET 2Ep%Y EitE s
% # &t L] = By #t 8 i =
22y U= kIO UKL 1.09x1.2+1.88%2.2=5.4 m’ 5.4 T
(#g"a_'i 350m) ].15.2 2.22.5
Z= 2 B A" 0.61x2.2+0.31x1.2=1.7 n’ 1.7 O -
(RC-40)
A:I.OQ*I.Q&
2 @ ¥ 0.8x2. 2+0.65%1.2=2.5 m’ 2.5 %

1800
2100

1040




OTIXREMEa >V —F 1047 U MEHEE
£ 7 it g = B % = & Z
2 v 4y Yy — b (0.60%0.25-0.10%0.50=2) x10=1.25 | m’ 1.25
(18-8-40BB)
a4 )—Fk
9 18-8-40BB
i) 7 (0.15+0.25) x10=4.0 m 4.0 100 500
UNEIEEMT)
- 2
E M B A 0.80x10=8.0 m 8.0 < 2
(RC-40 t=10cm) o | |
) 100 600 100
i) i 2 (0.60%0.25-0.10%0.50=2) x2=0.3 m 0.3 R
RC-40

800




10IXREMaVHY—F (1) 10n% 7= Y M EHEE
£ 7 it =1 = B % = i Z
NO.6+17.8 ~ NO.7 NO. 6+17. 8~NO0. 7
2 v 4y Yy — b (0.60%0.30-0.15%0.50=2) x10=1.43 | m’ 1.43
(18-8-40BB)
it B (0.15+0.30) x10=4.5 m 4.5
UNEIEEMT) 500 100
HEffa o )— ¢
(18-8-40)
2 ® B A 0.80x10 m’ 8.0| g /
(RC-40 t=10cm) o S
| | g
i i 2 (0.60%0.30-0.15%0.50=2) x2=0.3 m’ 0.3
NERRE
RC-40
1040 600 1040
800




10OTIRXREREaH)—F (2) 1047 U MN=EHEE
% =

L7 it =} a BHii 81 = fia
NO.7 ~ NO.7+1.2 NO. 7~NO. 7+1. 2
a v 2 ) — Fk (0.45%0.25-0.10%0.35=2) x10=0.95 | m’ 0.95
(18-8-40BB)
avoy—+k
9 18-8-40BB
i) B (0.15+0.25) x10=4.00 m 4.0 350 _100
(NEMEEMT)
9 ‘%7 ﬂé [
X B B =& 0.65%10=6.5 m 6.5 3 2
(RC-40 t=10cm) | | g
ﬁﬁ ;_iFlg H—" (0 45x0.25-0. 1 x0. 35—2) x2=0.2 m2 0.2 100 450 100

650




OTREKiHET 10m4 7= U M EHEE
% 5 it g = Bl % = & =
X avhry -t 0.50%0. 14=2 % 10=0. 35 m 0.35
(18-12-20BB)
it 2 0.14x10=1.4 m’ 1.4
520
O
<
500
arol)—F

18-8-40BB




10IREXHL (1) 10m4 - Y MEHEE
2 i &t El = B % 2 i &=
NO.6+17.8 ~ NO.7 NO. 6+17. 8~NO. 7
X wmavhry) - 0.50x0.14=2x%x10=0. 35 m 0.35
(18-12-20BB)
it B 0.14x10=1.4 m 1.4
057220
(18-12-20) 520

140

500




10IRXIFET (2) 10m4 7= U M EHEE
% 5 it =1 = Bl % = i =
NO.7 ~ NO.7+1.2 NO. 7~NO. 7+1. 2
X B avhy -} 0.35%0.10=2x10=0. 18 m 0.18
(18-12-20BB)
it 2 0.10x10=1.0 m’ 1.0
360
oﬁ
o
avo)—+k

18-8-40BB




OTX/hNOIET 1H% Y MEEEE
% - e o = By = e =
a > g ) — bk (0.68+0.88) =2x1.45%0.30=0. 34 m 0.34
(18-8—-40BB)
S i (0.68+0.88) =2x1.45+0.30x1.51=1.6
(@ETH-1) . 68+0.88) +-2x1.45+0. 30> 1.51=1. o 6
300 680
H 1] B 1E 0.88x0.30=0.3 m 0.3
. Y —
o /7
o i
2 by
Sl




10TX/MOIET (1) ETo MEHEE
% 5 it =1 = Bl % = i =
NO. 6+17.5 NO. 6+17.5
O Y 5 Y — k| (0.72+40.97) =2 x2.10%0. 30=0. 53 m 0.53
(18-8-40BB)
i) B . _
@G- (0.72+0.97) =2x2.10+0. 3% 2.19=2. 4 . »
i NO. 6+17.5
720 300
2 @& ® I@E| 0.97x0.30=0.3 m’ 0.3
\\ — "(\’\
s\ e R
P -
arvsysly—+ 970




10IX/NMALT (2) ESD MEHEE

£ 7 &t " X By #t = i £

NO. 7+1.5 NO. 7+1.5
O Y & Y — b (0.55+0.76) =2x1.29%0.30=0. 25 m° 0.25

(18-8-40BB)
B 7 . _

EwE- (0. 55+0. 76) =2x 1. 29+0. 3x 1. 35=1. 2 . o

300
X2 B ¥ IE | 0.76x0.30=0.2 m” 0.2 -
a4y )=




I ¥ B ¥

it H W

I SRAUKER No. 1
R4 BIRE WE | Eu |BEaLY |{FEV| EEE | REE | FEAR HE
£ % B|mAE A # | 30/19
SERET 0.000[  0.000
[%1TK] 0.000[  0.000
i) 3.000] m3 38000 4gpo| 0080 0.130 Batps
Bt (3h2) 4.500] m3 44.000] 1000 0O.100) 0.160 P
Bt (BED) 4500 m3 70000 10|  0.060] 0090 1-1-@-3{tA
3 8.300] m3 35000 4gpo|  0240[ 0380 Baps
e 3300l m3 | 33000 {op0| 0100 o0.160 I -12-(D-1
70y 5 &H#Co 1.196] m3 5000 1000 0240 0380 I -12-D-11
R 4160 i 15000 1.000]  0280| 0.440 1-12-D-11
A 0.200[ i 15000 1.000(  0010| 0.020 1-12-D-11
% 8#Co 0.302| m3 5000 1000 0060 0090 I -12-D-11
R 1352] m3 15000 1.000(  0090| 0.140 I -12-D-11
Jov ok 2 % 35cm 11400 i 11.000[ 1.000]  1.040| 1.640 1-12-2-23
1S/h01kCo | 0.270[ m3 5000 2000 o110[ 0.170 I -12-D-11
R INEY 1.300| i 15000 3000  0260] 0410 1-12-D-11
28/hOkCo | 0.340[ m3 5000 2000 0140 0220 I -12-D-11
R INEY 1600| i 15000 3000 0320 0510 1-12-D-11
4.940
[£2IK]
L) 0.700] m3 38.000| 1gpp| 0020 0.030 Btieee
Bt (3h2) 0.500] m3 44.000] 1000 0010) 0.020 P
Bt (BED) 0500 m3 70000 10|  0.010] 0020 1-1-@-3{tA
3 2.400] m3 35000 4gpo|  0070| 0.110 Baps
e 1000 m3 | 33000[ 00| 0030 0050 I -12-(D-1
70y 5 &H#Co 0.262| m3 5000 1000 0050 0080 I -12-D-11
R 1.080| i 15000 1.000(  0070| 0.110 I -12-D-11
A 0.200[ i 15000 1.000(  0010| 0.020 1-12-D-11
% 8#Co 0.043| m3 5000 1000  0010[ 0020 I -12-D-11
R 0.240[ m3 15000 1.000]  0020] 0.030 1-12-D-11
Jov ok 2 % 35cm 3400 i 11.000[ 1.000[  0310] 0.490 1-12-2-23
1S/h01kCo | 0.320[ m3 5000 1000 0060 0090 I -12-D-11
R INEY 1600| i 15000 1.000[  0.110| 0170 1-12-D-11
28/hOkCo | 0.340[ m3 5000 1000 0070[ 0.110 I -12-D-11
R INEY 1.700| i 15000 1.000[  0.110| 0170 1-12-D-11
1520
ITR+2TK 6.460
[£3IK]




BH{E I 38m3/ B L ihak

12 #1 1.700] m3 38.000] 1000  0040) 0.060 B P
Bt (3h2) 1.600] m3 44.000] 1000 0040) 0.060 P
Bt GHED) 1600 m3 70000 {000| 0020 0.030 I-1-@-3{tFA
3 4.300] m3 35000 4gpo|  0120] 0.190 Baps
g 2000 m3 33000 1ggg| 0060| 0.090 I-12-D-1
70y 4 #HCo 0513[ m3 5.000( 1.000| 0.100| 0.160 1-12-(D-11
WL 2160 m 15000 1.000]  0.140[ 0.220 1-12-D-11
5 0200 m 15000 1.000(  0.010| 0.020 I-12-(D-11
X i#Co 0.007| m3 5000 1000 0020| 0030 1-12-(D-11
WL 0540 m3 15.000| 1.000( 0040 0.060 I-12-(D-11
Jov o 22 % 35¢m 6.800| m 11.000| 1.000( 0620 0.980 1-12-2-23
/N 1ECo INE 0.560[ m3 5000 1000 0.110| 0.170 1-12-(D-11
WL INE 2800 m 15000 1.000[  0.190| 0.300 I-12-(D-11

2.370

[¥4IK]

i) 9.200] m3 38000 4gpo|  0240| 0380 Batps
Bt (3h2) 2.600] m3 44.000] 1000 0060 0.090 P
Bt GHED) 2600 m3 70000 {g00| 0040 0.060 I-1-@-3{tFA
BEAR 12.400] m3 35.000| 19gp|  0.350| 0.550 BaHpe
g 4000 m3 33000 1ggg| 0120 0.190 1-12-(D-1
70y 4 #HCo 1910/ m3 5000 1.000| 0380 0.600 1-12-(D-11
WL 5580 m 15.000| 1.000( 0370 0.580 I-12-(D-11
5 0.300[ m 15.000| 1.000( 0020 0.030 I-12-(D-11
X i#Co 0570[ m3 5000 1000 0.110| 0.170 1-12-(D-11
WL 1984 m3 15000 1.000] 0130 0210 1-12-(D-11
Jov o 22 % 35¢m 18500 m 11.000| 1.000| 1680 2.650 1-12-@-23
12/ 0k [hE 0.430[ m3 5000 1.000| 0090| 0.140 1-12-(D-11
WL INE 1900 m 15000 1.000] 0130 0210 1-12-(D-11
282/ OkCo MR 0.470[ m3 5000 1.000| 0090| 0.140 1-12-(D-11
WL INE 2100 m 15000 1.000]  0.140[ 0.220 1-12-D-11

6.220

3IIRHIR & 8.590
[£5IK]

i) 6.000] m3 38000 4gpo|  0160[ 0.250 Batps
Bt (3h2) 0.800] m3 44.000] 1000  0020] 0.030 P
Bt GHED) 0.800] m3 70000 1000| ©O010[ 0020 I-1-@-3{tFA
3 5.300] m3 35000 4gpo|  0150| 0.240 Baps
g 2200 m3 33000 1ggo| 0070| o0.110 1-12-(D-1
70y 4 #HCo 0.608| m3 5000 1000 0.120] 0.190 1-12-(D-11
WL 2560 m 15000 1.000(  0.170| 0.270 I-12-(D-11
5 0200 m 15000 1.000(  0.010| 0.020 I-12-(D-11
X i#Co 0.115 m3 5000 1000 0020| 0030 1-12-(D-11
WL 0.640[ m3 15.000| 1.000( 0040 0.060 I-12-(D-11




Jov o 22 % 35¢m 10.000| m 11.000| 1.000( 0910 1.440 1-12-2-23
/N 1ECo INE 0.680[ m3 5000 1.000| 0.140| 0220 I-12-(D-11
WL INE 3.400( m 15000 1.000(  0.230| 0.360 I-12-(D-11
3.240
[£6 IK]
i) 2.900] m3 38000 4gpo| 0080 0.130 Batps
Bt (3h2) 0.600] m3 44.000] 1000 0010) 0.020 P
Bt GHED) 0.600| m3 70000 1000| ©O010[ 0020 I-1-@-3ftF
3 4.900] m3 35000 4gpo|  O140[ 0220 Baps
g 2300 m3 33000 1ggo| 0070| o0.110 1-12-(D-1
70y 4 #HCo 0.707| m3 5000 1.000| 0.140| 0220 1-12-(D-11
WL 2430 m 15000 1.000[  0.160| 0.250 I-12-(D-11
5 B 4 0.300[ m 15000 1.000(  0.020| 0.030 I-12-(D-11
X i#Co 0.157| m3 5000 1.000| 0030| 0050 1-12-(D-11
WL 0.702| m3 15000/ 1.000(  0.050| 0.080 I-12-(D-11
Jov o 22 % 35¢m 7.300| m 11.000| 1.000( 0660 1.040 1-12-2-23
/O IECo INE 0.720[ m3 5000 2000 0.290| 0460 I-12-(D-11
WL INE 3.400( m 15000/ 3.000(  0.680| 1.070 I-12-(D-11
3.700
[£7IK]
12 #1 11.200) m3 38.000] 1000  0:290) 0.460 Batps
Bt (3h2) 1.600] m3 44.000] 1000 0040) 0.060 P
Bt GHED) 1600 m3 70000 {000| 0020 0.030 I-1-@-3ftF
BEAR 11.400] m3 35.000| 1900  0.330| 0.520 BaHpe
g 4800 m3 33000 1ggg| 0.150| 0.240 1-12-(D-1
70y 4 #HCo 1624 m3 5000 1000 0320 0510 1-12-(D-11
WL 5580 m 15000 1.000(  0.370| 0.580 I-12-(D-11
5 B 4 0.300[ m 15000 1.000(  0.020| 0.030 I-12-(D-11
X i#Co 0.360[ m3 5000 1000 0070 0.110 1-12-(D-11
WL 1612 m3 15000 1.000( 0.110[ 0.170 1-12-(D-11
Jov o 22 % 35¢m 19500 m 11.000| 1.000( 1.770[ 2.790 1-12-@-23
/N 1ECo INE 0.840[ m3 5000 1000 0.170| 0270 I-12-(D-11
WL INE 4000 m 15000 1.000(  0.270| 0.430 I-12-(D-11
6.200
[£8IK]
L) 1.000| m3 38.000| 1gpp| 0030 0.050 Btieee
Bt (3h2) 4.700] m3 44.000] 1000 O110] 0.170 P
Bt GHED) 4700] m3 70000 1000| ©070[ 0.110 I-1-@-3ftF
3 1.900] m3 35000 4gpo|  0050| 0.080 Baps
g 1900 m3 33000 1ggg| 0060| 0.090 1-12-(D-1
70y 4 #HCo 0.558| m3 5000 1000 0.110| 0.170 1-12-(D-11
WL 1755 m 15000 1.000]  0.120[ 0.190 1-12-(D-11
5 B 4 0.300[ m 15000 1.000(  0.020| 0.030 I-12-(D-11




% 8#Co 0.137| m3 5000 1000 0030 0050 I -12-D-11
R 0.546| m3 15000 1.000( 0040 0.060 1-12-D-11
Jov ok 2 % 35cm 3700 i 11.000[ 1.000]  0340| 0.540 1-12-2-23
/N kGo INE 0580 m3 5000 1000 0120 0.190 I -12-D-11
R INEY 2600 ni 15000 1.000[  0.170| 0.270 1-12-D-11

2.000

[£9IK]
i) 4100[ m3 38000 4gpo|  O110[ 0.170 Batps
Bt (3h2) 3.500] m3 44.000] 1000 0080 0.130 P
Bt (BED) 3500 m3 70000 10|  0.050] 0.080 I-1-@-31¢ F
3 4100[ m3 35000 4gpo|  0120] 0.190 Baps
e 1500 m3 | 33000[ 40| 0.050 0080 I -12-(D-1
70y 5 &H#Co 0550 m3 5000 1000 o110[ 0.170 I -12-D-11
R 1.760| i 15000 1.000]  0.120] 0.190 I-12-(D-11
A 0.300 i 15000 1.000( 0020 0.030 1-12-D-11
% 8#Co 0.154| m3 5000 1000 0030 0050 I -12-D-11
R 0.616| m3 15000 1.000]  0.040| 0.060 I-12-(D-11
Jov ok 2 % 35cm 5500 m 11.000[ 1.000[  0500{ 0.790 1-12-2-23
/N kGo INEY 0.680[ m3 5000 1000 0140 0220 1-12-D-11
R INEY 3.200[ i 15000 1.000[  0210] 0.330 1-12-D-11
MZT

AEANTT 4.000 | m 21.000] 1. 000 0.190]  0.300

2.790

[F10TK]

i) 6.400] m3 38000 4gpo|  0170] 0270 Batps
Bt (3h2) 0.800] m3 44.000] 1000  0020] 0.030 P
Bt (BED) 0800l m3 70000 10|  0.010] 0020 I-1-@-31¢ F
3 3.500] m3 35000 4gpo|  0100[ 0.160 Baps
e 1300] m3 | 33000] 00| 0.040 0060 I -12-(D-1
70y 5 &0 1 0.315| m3 5000 1000 0060 0090 I -12-D-11
R 0.990| i 15000 1.000(  0070| 0.110 I -12-D-11
A 0.300 i 15000 1.000( 0020 0.030 1-12-D-11
J 0y &2 0.114| m3 5000 1000 0020 0030 I -12-D-11
R 0480 i 15000 1.000( 0030 0.050 1-12-D-11
A 0.200[ i 11.000 1.000[ 0020 0.030 1-12-@-23
F 800 1 0077 m3 5000 1000 0020 0030 I -12-D-11
R 0.308| m3 15000 1.000( 0020 0.030 1-12-D-11
F 800 2 0022 m3 5000 1000 0000 0000 I -12-D-11
R 0120/ m3 15000 1.000(  0010| 0.020 I -12-D-11
Jov ok 2 % 35cm 5400 m 11.000[ 1.000[  0490| 0.770 I -12-D-11
/NEkCo 1 INE 0530 m3 5000 2000 0210[ 0330 I -12-D-11
R INEY 2400 ni 15000 3.000( 0480 0.760 1-12-D-11
/NEkCo2 INE 0.250[ m3 5000 2000 0100 0.160 I -12-D-11




5 Witk =3

JNEY

1.200

15.000

3.000

0.240

0.380

I-12-D-11

3.360




K & B %

it H W

IHE: No. 1
R4 BIRE WE | Eu |BEaLY |{FEV| EEE | REE | FEAR HE
£ % B|mAE A # | 30/19
SERET 0.000|  0.000
[%1TK] 0.000|  0.000
i) 3.000] m3 38000 4gpo| 0080 0.130 Batpss
3 8.300] m3 35000 4gpo|  0240[ 0380 Bapss
e 3300 m3 | 33000 1000| 0.100[ o0.160 I -12-(-1
70y 5 &H#Co 1.196] m3 5000{ 1000| 0240 0380 I-12-(D-11
LA 4 4160| mi 15000 1.000]  0280| 0.440 1-12-(D-11
A 0.200[ i 15000 1.000(  0010| 0.020 1-12-(D-11
Jovo 2 % 35cm 3120 i 11.000| 1.000[ 0280 0.440 1-12-@-23
12//01kC  |ME 0.270[ m3 5000 2000 0110 0170 I-12-(D-11
LA 4 INE 1300 ni 15000 3000  0260] 0410 1-12-(D-11
28MOIECo  [ME 0.340| m3 5000 2000 0140 0220 I-12-(D-11
LA 4 INE 1600 ni 15000 3000 0320 0510 1-12-(D-11
3.260
[¥£2IR]
L) 0.700] m3 38.000| 1gpp| 0020 0.030 Btiee
3 2.400] m3 35000 4gpo|  0070| 0.110 Bapss
e 1000l m3 | 33000 {goo| 0.030| 0050 I -12-(-1
70y 5 &H#Co 0.262| m3 5000{ 1000| 0050 0080 I-12-(D-11
LA 4 1080 ni 15000 1.000[  0070[ 0.110 I-12-(D-11
A 0.200[ i 15000 1.000(  0010| 0.020 1-12-(D-11
Jovo 2 % 35cm 0.720| mi 11.000| 1.000[  0070[ 0.110 1-12-@-23
12//01kC  |ME 0.320| m3 5000{ 1000| 0060 0090 I-12-(D-11
LA 4 INE 1600 ni 15000 1.000[  0.110| 0170 1-12-(D-11
28MOIECo  [ME 0.340[ m3 5000{ 1000| 0070 0110 I-12-(D-11
LA 4 INE 1700 ni 15000 1.000[  0.110| 0170 1-12-(D-11
1.050
ITR+2TK 4310
[£3IRK]
i) 1.700] m3 38000 4gpo|  0040[ 0.060 Batpss
3 4.300] m3 35000 4gpo|  0120] 0.190 Bapss
e 2000l m3 | 33000| qgo0| 0060 0090 1-12-0-1
70y 5 &H#Co 0513| m3 5000{ 1000| 0100 0.160 I-12-(D-11
LA 4 2.160| mi 15000 1.000]  0.140[ 0220 1-12-@-11
A 0.200[ i 15000 1.000(  0010| 0.020 1-12-(D-11
Jovo 2 % 35cm 1620 ni 11.000| 1.000[  0.150[ 0.240 1-12-@-23
/N kGo INE 0.560| m3 5000 1000| 0110 0170 I-12-(D-11
LA 4 INE 2800| mi 15000 1.000(  0.190| 0.300 1-12-(D-11
1.450
[¥£4IR]
i) 9.200] m3 38000 1gpo|  0240[ 0380 Batpss




BHER {E 35m3/ B L ihak

BEAR 12.400] m3 35.000| 19gp|  0.350| 0.550 BHHP3
e 4000l m3 | 33000 {o00| 0120[ o0.190 I -12-(-1
70y 5 &H#Co 1910| m3 5000 1000 0380 0600 I-12-(D-11
R 5580 ni 15000 1.000[  0370| 0.580 1-12-(D-11
A 0.300 i 15000 1.000]  0020] 0.030 1-12-(D-11
Jov ok 2 % 35cm 3720 i 11.000[ 1.000]  0340| 0.540 1-12-@-23
1S/h01kCo | 0430 m3 5000 1000 0090 0.140 I-12-(D-11
R INEY 1.900| i 15000 1.000[  0.130] 0.210 I-12-(D-11
28/hOkCo | 0470 m3 5000 1000 0090 0.140 I-12-(D-11
R INEY 2100 ni 15000 1.000[  0.140| 0.220 1-12-@-11
3.580
[£5IK]
i) 6.000] m3 38000 4gpo|  0160[ 0.250 Batpss
3 5.300] m3 35000 4gpo|  0150| 0.240 Bapss
e 2200 m3 | 33000| {000 0070] 0110 I -12-(-1
70y 5 &H#Co 0.608| m3 5000 1000 0120 0.190 I-12-(D-11
R 2560 ni 15000 1.000[  0.170| 0.270 1-12-(D-11
A 0.200[ i 15000 1.000(  0010| 0.020 1-12-(D-11
Jov ok 2 % 35cm 3200 i 11.000[ 1.000]  0290| 0.460 1-12-@-23
/N kGo INE 0.680[ m3 5000 1000 0140 0220 1-12-(D-11
R INEY 3400 i 15000 1.000]  0230| 0.360 1-12-(D-11
2.120
[£6 IK]
i) 2.900] m3 38000 4gpo| 0080 0.130 Batpss
3 4.900] m3 35000 4gpo|  O140[ 0220 Bapss
e 2300 m3 | 33000| {000 0070] 0110 I -12-(-1
70y 5 &H#Co 0.707| m3 5000 1000 0140 0220 I-12-(D-11
R 2430| ni 15000 1.000]  0.160| 0.250 1-12-(D-11
A 0.300 i 15000 1.000]  0020] 0.030 1-12-(D-11
Jov ok 2 % 35cm 2700 m 11.000[ 1.000[  0250| 0.390 1-12-@-23
/N kGo SN 0.720| m3 5000 2000 0290 0460 I-12-(D-11
R INEY 3400 i 15000 3000  0680| 1.070 1-12-(D-11
2.880
[£7IK]
12 #1 11.200) m3 38.000] 1000  0:290) 0.460 Batpss
BEAR 11.400] m3 35.000| 1900  0.330| 0.520 B
e as00| m3 | 33000 {000 0150 0240 I -12-(-1
70y 5 &H#Co 1624| m3 5000 1000 0320 0510 I-12-(D-11
R 5580 ni 15000 1.000[  0370| 0.580 1-12-(D-11
A 0.300 i 15000 1.000]  0020] 0.030 1-12-(D-11
Jov ok 2 % 35cm 6200 m 11.000[ 1.000[  0560| 0.880 1-12-@-23
/N kGo INE 0.840[ m3 5000 1000 0170[ 0270 1-12-(D-11
R INEY 4000 i 15000 1.000[  0270| 0.430 1-12-(D-11
3.920
[£8IK]
L) 1000 m3 | 38000 jopp| 0.030] 0.050 P
3 1.900] m3 35000 4gpo|  0050| 0.080 Bapss




e 1900 m3 | 33000 40| 0.060 0090 1-12-(-1
70y 5 &H#Co 0.558| m3 5000 1000| 0110 0170 I-12-(D-11
LA 4 1755 i 15000 1.000[  0.120[ 0.190 I-12-(D-11
A 0.300 i 15000 1.000]  0020] 0.030 1-12-(D-11
Jovo 2 % 35cm 1950 ni 11.000| 1.000[  0.180[ 0280 1-12-@-23
/N kGo SN 0.580| m3 5000{ 1000| 0120 0.190 I-12-(D-11
LA 4 INEY 2600| mi 15000 1.000[  0.170| 0.270 1-12-(D-11

1350

[£9IRK]
i) 4100[ m3 38000 4gpo|  O110[ 0.170 Batpss
3 4100[ m3 35000 4gpo|  0120] 0.190 Bapss
e 1500 m3 | 33000[ 40| 0.050 0080 1-12-(-1
70y 5 &H#Co 0.550| m3 5000 1000| 0110 0170 I-12-(D-11
LA 4 1760 i 15000 1.000[  0.120[ 0.190 I-12-(D-11
A 0.300 i 15000 1.000]  0020] 0.030 1-12-(D-11
Jovo 2 % 35cm 1320 ni 11.000| 1.000[  0.120[ 0.190 1-12-@-23
/N kGo INE 0.680| m3 5000{ 1000| 0140 0220 1-12-(D-11
LA 4 INEY 3200 mi 15000 1.000[  0210] 0.330 1-12-(D-11
MAZT

SEANTT 4.000 | m 21.000] 1. 000 0.190[ 0.300

1.870

[F10TK]

i) 6.400] m3 38000 4gpo|  0170] 0270 Batpss
3 3.500] m3 35000 4gpo|  0100[ 0.160 Bapss
e 1300] m3 | 33000] 00| 0.040 0060 1-12-(-1
70y 5 &0 1 0315 m3 5000{ 1000| 0060 0090 I-12-(D-11
LA 4 0.990| i 15000 1.000[  0070[ 0.110 I-12-(D-11
A 0.300 i 15000 1.000]  0020] 0.030 1-12-(D-11
J 0y &2 0.114| m3 5000{ 1000| 0020 0030 I-12-(D-11
LA 4 0.480| mi 15000 1.000(  0030| 0.050 1-12-(D-11
A 0.200[ i 11.000[ 1.000[ 0020 0.030 1-12-@-23
Jovo 2 % 35cm 3740 i 11.000[ 1.000]  0340| 0.540 I-12-(D-11
/NEkCo 1 SN 0530 m3 5000 2000 0210 0330 I-12-(D-11
LA 4 INEY 2400| mi 15000 3000  0480| 0.760 1-12-(D-11
/NEkCo2 SN 0.250[ m3 5000 2000 0100 0.160 I-12-(D-11
LA 4 INE 12000 ni 15000 3000  0240| 0.380 1-12-(D-11

3.000




